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OAN2LA2RS+Y HHZ(23H) 28,494
— 6= 11,4013 «8H «10Al 2t+ 128 10,945
—-7=2 10,2993 x8H 10A| 2t x 12 9,888
— 8= 9,246 «6H *10Al 2tx 128 6,658
— 9= 8,357 1P *10Al 2t+123 1,003
Oozuz2e+¥ 9,826 23 *32A1 2t+12& 86,784
02 JIEt& 2 == 40,863 24,907 15,956
O3 A 40,863
—NLeTRLY(FHE)
8,210 «3H 10Al 2t 123 2,956
—ZUIZRFE 8,210& «3H «30Al 2tx 1228 8,867
— Y=z 600,000 x3H «12& 21,600
— SSYEF2AA 2 64|
10,0003 «3H 10 128 3,600
—SSYHEF2AA 22 04
50,000 *3H 102! 1,500
—SSYHFYAM AR W=Hl 300,000 3 900
—ZEYALON B
40,0003 x3H » 12 1,440
03 RIHAZ 2N E =+ 13,500 13,500 0
OS0HE JIsdRA(3Y) 13,500
—ZUZRFE 12,5003 *3H +30A| 2t 128 13,500
=3t 95,882 86,983 8,899
JlE2zl 95,882 86,983 8,899
201 Let24E] 47,922 39,083 8,839
01 At 22l 47,222 37,719 9,503
Oger=ZHl SHA & 23,882
OSgH SHH & 23,340
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